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30197631 pninp A4 PLU3 | winith 2,500 225,000

30197331 nwyhs PCUI | hwwn 3,500 14,000 4

30197233 pnthwwwbwly PLUR | hwwn 120 6,000 50

30197232 wpwagwlwnp PCU3 | hwuwn 120 6,000 50

30197230 pnpwwwiwy PLUI | hwuwn 15 7,500 500
30197232 pnpwwwlwy, wpwqwlwp pnpjw PLUR | hwuwn 50 5,000 100
30197234 pnpuwwiwly, nown fugund PLUI | hwuwn 1,000 15,000 15
30199231 Owdwljh spun PLUR | hwun 40 2,000 50
30199232 onpup, Uks, A4 dnpldunh hwdwp PCU3 | hwun 80 2,800 35
30234300 nunuiply ujujwnpwly, wpwtg innuthh, CD PLUR | hwwn 200 4,000 20
30192121 qunhbuynp aphs POUR | huwn 120 14,400 120
30192128 qbjwjhG qphs PLU3 | hwwn 150 4,500 30
30199420 pnige, tondubpnh hwdwp PLU3 | hwwn 350 3,500 10

39263200 gpuukijuljwihi ghpp, Yunqul, 70-200ke | PLUI | hwwn 850 17,000 20

30197322 Juphsukp, 20-30 plpph hwdwn PCU3 | hwwn 1,100 5,500 5

30197323 Lunhsukp, 30-50 phpph hudwn PLUR | hwwn 1,500 7,500 5

30192710 unulidwdwwnhwn, gqpuukijuljuht PLU3 | hwwn 350 7,000 20

24911200 unuhtd, EUnyyuhw PLUI | hwuwn 480 2,400 5
30192720 gdwliohs (Uwunltp) PLUR | hwun 300 6,000 20

30192135 gnudhunnt vhontly, dwmunhwnh hwdun PLUI | hwwn 500 10,000 20

30192136 dwunhwn, gnpubhunt mtnunpdnyg dvhonilny [ PCUI | hwwn 200 2,000 10

30192152 Liuhp, wdunndwwn, inp PLU3 | hwwn 10,500 10,500 1

30197111 Juphsh Ublnwunujwunpk uwkbp, thhnpp PLUR | hwun 100 5,000 50

30197112 Junhsh Uknnwunujwupk juwkbp, vhoht PLUR | hwun 250 12,500 50

30141200 hwoduuwnp, gpuubkijuljuih PLU3 | hwuwn 5,000 20,000 4

30192114 pwlwp, snuduih, pupdhlh PLUI | hwwn 250 2,500 10

30192100 nhwnht, hwuwpul PLU3 | hwwn 100 1,000 10
30192750 dndwunbpbph hwjupwény PLU3 | hwwn 500 2,000 4

39263320 opuignijg, ywwnh PLU3 | hwwn 3,600 14,400 4

3 210 3N T8 15,000

39831241 o&mn &hnph

39831242 1Jwgph thnoh, dkppny jJubwint hwdwp PLU3 |hwwn 760 3,800 5

39836000 wyly, unynpulju PLUI |hwwn 900 10,800 12

39837000 quiuyly PLU3 |[hwin 1,700 6,800 4

33761000 nnijnuny, gniqupwih pninp PLUI |hwwn 100 5,000 50

31531210 1.5Ejnpulut judy, 60W, 80W, 100W PLUR [hwwn 100 2,000 20

31531220 2 hEunpulut judy, 150W PLU3 |hwwn 200 2,000 10




39224332 ghujuwywwn nnijj PLUI |hwwn 1,100 2,200 2
39224341 wnpupinbp, wywundwuwihg PLUR |hwwn 1,000 2,000 2
19641000 wnihbphjEbuyhtt wwply, wnph hwdwp PLU3 |hwwn 10 1,000 100
19642000 wnjhbphyEiuyhtt yupl, ubinuiht PLUI |hwuwn 1 1,000 1,000
39513200 pnph widknnghljubkp, Gpljokpun PLUR |hwwn 160 8,000 50
39835000 hwwnuwly dwppknt dnn £LUR  |hwwn 1,000 4,000 4
39831244 odun, mbinkuwlju PLUR |hwuwn 150 1,500 10
39839100 gnquiphwly, wnpp hwjwpkint hwdwp, dnn] PCUR  [hwwn 1,400 5,600 4
39811300 onh hnwnnwytwn hnwnwgtpshs PLUR  |hwwn 370 8,880 24
30199790 wunh, dudwgnyg, Juypykiwswih PLUI |hwwn 7,000 7,000 1
31681610 HEhwnpulut wywhnyghs, dhwdwg, 32U PLUR  |hwwn 1,200 6,000 5
39241210 dljpun, gpuubkijuljujh PLUR |hwwn 230 920 4
31681710 pudwbwpup wnuh, bpwdwg, vhwbwqg HE PCUI  [hwn 100 500 5
31681730 pudwiwpup ninuh 2, gny. pubwlp 24*2 | PCUR  |hwwn 6,300 6,300 1
31442000 dwpunljngutipn, AA mkuwljh PLU3 [hwwn 130 2,600 20
39812410 lywhnyph thuy kgdwi vhong PLUI [hwwn 730 8,760 12
39241140 nubul, gpuukiyuluyhl, Uknwnjw PLUR |hwwn 100 2,000 20
39831271 uyniliq, uwlthnwpuwhhghkuhl PCUI |hwwn 80 2,000 25
39831272 uyniliq, wdwt jJuiunt PLUI |hwwn 30 360 12
39812100 huwnwlh dwshly /Jduunhlju/ PLUI [hwwn 1,360 5,440 4
31683100 knwpuwiohuhs 3w, 3d jupny PLU3 |hwwn 1,200 2,400 2
31683200 knwpuiohuhs 4w, 3u jupny PLUI |hwn 1,200 4,800 4
31683300 tnuipwohuhs, Jupnulht thwg. wpwbg jup PCUR  [hwwn 250 1,000 4
39838000 wil) gnquphwlh htwn, yjuundwuwihg PLUI |hwwn 1,500 3,000 2
39221160 pudwly UkS PLUR [wintth 6,000 6,000 1
39221150 pwdwl thnpp PLUR |unith 5,000 5,000 1
39221150 unLpdh pwdwly PLUR |wnith 2,500 2,500 1
39221130 pbjh pwdwly PeUR [winuh 3,000 3,000 1
|39221210 k6 wihub PLUI |hwwn 1,000 3,000 3
39221260 PLUR [hwun 2,100 2,100 1
_ GhOuwiyr | soogoof @
44921100 ghwu, uyhwnuy PRU3 |Ug 90 22,500 250
44921110 ghwu, shttwpwpwlul, Unfjupugnij PCU3 |Ug 100 30,000 300
44921200 Uhp, thnoh roul [uq 70 7,000 100
44921400 Uhp, shtwpwpuwlwu PLUR |Ug 70 7,000 100
44111710 uwhl, Yepudhjulwl, hwnwih hudwp | PEUI |62 4,850 116,400 24
14211000 wug, shttwpuwpuljui PLUR [hwwn 250 2,500 10
44192400 qui9 8,500 5
44111200 ghukuwn 14,000 5
44111200 qulwquw Ywneniyglb 92100 1
Uwppbip uwppwynpnid 1500000}
50300000 hwiwlwpghs 600,000 | 300,000
39130000 qpuubklywywihG ywhniyp PLUI |npwd 1 400,000 | 400,000
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65310000 kY pwlwbnipjwl pwpfunid PLUR |npwd 500,000 500,000 1
65210000 quqgh pwfuntd PLUR |npwd 600,000 600,000 1
Yuwuwh dwpwjnipjnLl
64211120 dhopwnwpwjhG hbnwiunuwyww PLUR [npwd 150,000 150,000 1
72411100 hudwguiiguiht Swpw) dwwnnignn (isp) PLUR  |npwd 250,000 250,000 1
Uwwhnjwopwlwh dwiuukip
66511170 [thnfuwn. wwwhnywgpwlwG swiuubip [ eeu3 Jnpws | 70,000 | 70,000 | 1
JwiwlwpswihG dwowynipyntGlbip
72120000 3wiwlwpghsGbph Gnp.Swpw)nip. [ eeu3 Jopws | 250,000 | 250,000 | 1
AEtneh nuidwGnnnuwannieiwl Sdwnwintginta




70000000 [qnuph Ghwwndwip ppwyniGph gpwlgntd [ eeui Jnpwo | 150,000 | 150,000 | 1
[ UbkphiGwGkiph yepwGnpnqiwl swow)nipyniGGEp

50111130 dbpLOwatph Gnpngiw 6wnw)jnipintGlbp £LUR |npwd 400,000 400,000 1
72261190 winbn. wnkub. pwagp. wwwh. yepwlnpngntd PLUR  |npwd 150,000 150,000 1
[45460000 okupliph, ohuinipe) pipwghly inpng wouwwn| PCUI  [npwd 150,000 150,000 1
99600000 hmm ulh Sunpuk PLUI  [npwd 100,000 100 000 1

99600000 )Luzl'uwianwné L mwnqhwmnmd 23,000,006

[ CGhwokGp | X [x | | 29,240,000 | |
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Opwghpp
UGywbniip thnnngltiph (nLuwydnpnepynil
pwdhG 06 funwip 4 nwu _1_épwghp
(puwn pynLobinnwhG dwiuubph gnpéwnrlwlwl wuwywpgiwh)

QGuwh wnwpywih QGuwh aL |2wthdw(  Uhwynph CGnwikap Lwlwyp
UhopwGghy Ynnp puwn whywhniip (pGpwgw- |Shwynp qhlp Swfuubip
CPV nuuwljwpquwh Yuwna) (nnwd) (npwd)

1 2 3 4 5 6 il

974,000

UpfuwunwGpGh _ .
uwy vwunppbnh mEnunpnid PLUR wy 974000 974,000 1
7 —

45311137

Gwnwjnipjnlo I

65310000 b EYunpwywbnipjwl pwpfuntd PLUR |npwy | 1,600,000 1,600,000 1

45460000 gwlgh YbpwlwGglnnuwl wofuwnwipbbip PLUI |npwd 150,000 150,000 1

98111140 htnhGwywyhG huynnnipynth PLUR [npwd 6,000 6,000 1

71351540 nbfubhywywh yGpwhuynnnipni PLUI |npwd 20,000 20,000 1
1

71311100 C dwhhmw bm‘w wh Swnwnipintl £LUR  [npwd 50,000 50,000

COnwuklp | [x x || | 2,800,000 |

Nuwwnyhpwwnntd  Lniwwnwinh gynunuwwbnwnul
(puwn pynobinwhG dwiuubph qpwwnbuswlwl Ywuwlwpgiwh)
Opwghpp
uGgwbniip UnpwhwOnipynil
pwdhG 05 fundp 1 _nwu _1_épwghp
(puwn pyniobinwihG whuubiph gnpéwnlwywl Swuwywngiw)

QGuwh wnwpywih QGuwG 6l |2wihtwd  Uhwdnph LGnwoikGp Pwlwlp
Uhow(ghl Ynnp pun whywbnLip (pnGpwgw- |0hwynp qhlp Swfuubip
CPV nuuwlwpgiwd Ywpnqg) (nnwid) (npw)

134200
90511100 wnph hwu_w liwﬁ ('IUJI'ZUJjanjnLﬁ £LUI  |npwd 720,000 720,000 1

CGnwuklp | [x [x ]

1,620,000 |




Opwahpp

UGJwlGnLdp

swhwwwphwih( wmpwlwnpn

pwdhG 04 funwp 5 nwu_1 épwaghp

(puwn pynLpbuinwihG Swiuubiph gnpéwrlwywl Ywuwhwngiwh)

Q00w h wnwplyuwjh QGowG 4L |2uihdw( Uhwynph LOnwikap Pwlwyp
Uhpwlghly Ynnp pun whjwGnLip (nGpwgw- |0hwynp ghGp Swfuubp
CPV nwuwlwpquwl Yuwnq) (npwv) (npwv)
5 6

BT 974,000
452317 974000 974,000

o ' - 76,000 |
98111140 htnhGwlwjhG huynnnipjniG £LUR [npwd 6,000 6,000 1
71351540 nbhuGhywywb ypwhuynnnipjnch PLUR [npwd 20,000 20,000 1
71311100 Gwjuwgéwhbunwgbnwywh Swnw)nip)ntl wy 50,000 50,000 1

DGnwadbklp | = X [x [ 1,050,000
Muuwyhpwwnnil  Lniuwnrwinh gjninwwbitnwpwl
(puwn pjniobitnwghl wfuubiph qipwwntuswlwb Ywuwlwpgiwb)
Oqwghpp
UGjwbniLip Ywlws wpwopbbiph wwhwwlnid
pwdhlG 05 hunip 1 nwu _1_ Spwaghp
(puwn pynLpbiinwihG 6whuubph gnpéwriwlywl wuwlwngiwh)
QGow0 wnwplywjh QGUwG 8L |2wihtwd  Uhwynph CGnwikGp Pwlwlp
Uhpw@Gghy Ynnp pun whywGniip (pGpwgw- |0hwynp qhlp 6wfuubip
CPV nwuwlwnqiw@ Yung) (npw) (npw)

100,000 |
45231125 npnguwit wohiunwiptibp PLU3 |npwd 100,000 100,000 1
45460000 Gpwghy Gnpngntd , PLUR [npwd 400,000 400,000 1
X X -
LGnwokGp | {x [x [ 500,000
Muwundhpwwinii  Lncuwnpwwnh gjninuwtitnwpuwG
(puwn pynLobinwiihG dwhuubiph qipwunbuswlwl Pwuwlwpgiwhb)

Opwahpp
UGJwGniip ppwiwnwwpwpnid
pwdhG 05 hunip 1 nwu _1_ 6pwghp
(puwn pyniobinughl dwiuubph gnpéwniwlwl Pwuwlwpqiwh)

QGuwl wnwpyuwjh QGowWG 6l |2wihdw(  Uhwynph LGnwikbp Pwlwlp
Uhowghy Ynnp pun whywGniip (nGpwgw- |Ghwynp ghlp Swhuukip
CPV nuuwlwnqiwG Ywng) (npwd) (nnw)
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45460000

guitigh

h( dhpngwnenil. juqiwybipy. Swew)jnip.

COnwuikGp | [x [x | 3,370,000 |
Muwwdhpwwnid  Lniuwpwwh ginunuiybnwpuwb
(puwn pynLebnwihG dwiuubph gbipwwnbuswlwl wuwywpgiwlb)
Opwahpp
UGJwhniLip hwlqhuwn Gowlniyp,Ypnh
pwdhG 08 fnip 5 nwu_1_épwghp
(puwn pynLobinwight 6wiuubph gnpéwrlwlywh Swuwlwnpgqiwb)
QGUwl wnwpywjh QG0wG 6L |2uihiw(  Uhwynph LGnwikhp Pwlwyp
UhowGghly Ynnp pun whijwbnLdp (pOpwgw- |Ghwynp ghlp Swfuubip
CPV nuuwywnpqiwh 4wnq) (npwd) (npw)
1 2 3 4 5 6

2,800,000 |

75121400 pwlwyh Yuwgiwynpnrd £LUR |npwd 60,000 60,000 1
75121400 dwpwnh 8,wwphih 7 PLU3I |ppwd 500,000 500,000 1
75121400 dwjhujw ninGbp PLUR |npwd 500,000 500,000 1
75121400 ybpohG quiGq PLUR |npwd 300,000 300,000 1
75121400 uwhdwbGwuwwhh op PLUR [npwd 50,000 50,000 1
75121400 pbpph wnG PLUR [npwd 300,000 300,000 g
75121400 qhwbhph op PLUR [npwd 350,000 350,000 1
75121400 wdwbnp L unipp 6GnLG PLUI [npwd 740,000 740,000 1
X X -
LOnwoklp | X [x | 2,800,000 |
Muugphpwwnnti  Lotuwnwinh gyninuwbitnwpuwl
(puwn pjnupbinuwihG swhuutiph gbpwnbuswywl Swuwlwpgiwb)

Opwahpp
UGqwbniip gqnuph Ghwwndwdp hpwuniGph dknp phpnid
pwdhG 01 hunip 6 _nwu _1_6pwahp
(puwn pynobinwihG dwiuubph gnpéwriwlwl Ywuwywngiwh)

QGowl wrwplwjh QGUwG aL |2wthdw( Uhwynph LGnwikbp Pwlwyp
UhowGghy Ynnp puwn wOjwnLdp (pGpwgw- |Ghwynp qhlp Swfuubip
CPV nuuwlwpgiwd Ywng) (nnwd) (npuy)

450,000 |
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pwdhG 01 funuip 3 nwu_3_épwghp

(puwn pjniobitnuyhG dwhuubiph gnpéwnlwywi Pwuwlywngiw)

/500,000 |

QOowh wnwplywih QGuwab 6L |2uwihdw]  Uhwynph CGnwikGp Pwhwlp
Uhow(Gghy Ynnp pun whywbniLop (pnOpwgw- |0hwynp ghlp Swfiuubip
CPV nuuwlwpgiwd Ywing) (nnw) (npw)
2 3 4 5 6 7

500,000

COnwikip | . [x Ix | | 500,000 |
Muwwnyhpwwnntd  Lntuwnwnh gjniquiwbinwnpul
(puwn pynigbinwhG dwiuubph gpwnbuswlwl Swuwlwpgiwh)
Opwahpp
UGJwGnLdp unghpwlws hwwnniy wpwnnbnepniGGbip
pwdhG 10_funip 7 nwu _1_6pwghp
(puwn pynLpbitnwiphG dwiuubiph qnpéwriwywl Pwuwlywpgiwh)
QGowh wnwpywjh QGuwh aL |2wthdw] Uhwynph LGnwokGp Pwlwlp
Uhpwghy Ynnp putn wbywGniip (nGpwgw- |Ghwynp ghlp Swfuubip
CPV nwuwlwpquw Ywnq) (nnwd) (npwd)
3 5 6

Gnud shwGnhuwgnn wy| dwuub % ‘ , 800,000
99600000 hnunwpywynpnipjwl GuwuwnGep % X 800,000 800,000
99600000 w)| Gujwuwnbbp X 3,000,000 3,000,000
LOnwikGp | [x {x | | 3,800,000 |
Muwuwnyhpwwn  Lotwwnewwnh gjninuwtinwpul
(puwn pyniobinwiihG Swiuubiph gbipwnbuswlwl Swuwlwngiwb)
Opwahpp
UGJwGnLip Guhuwnuwpngwliwl Yppnipntlh
pwdhG 9 funip 1 nwu_1_épwghp
(puwn pyniobinwhG dwiuubph gnpéwrliwywl $wuwluwngiwh)
QLuwh wnwplhwih QGuwh ab |2wthiw(  Uhwynph LGnwuklp Pwliwyp
UhowGghy Ynnp pun whywGnidp (nGpwgw- |Ghwynp ghlp Swfuubip
CPV nuuwlwnpgiw( Ywng) (npwv) (npw)
1 3 4 5 il

99600000

3,305,000

3,305, 000

l COnwokGp |

17,905,000 |




(puwn pynipbinnuwyhG dwiuubiph gipwwnbuswywb Swuwlwpqiwb)
Opwghpp
UGJwlOnLdp pwpdpwanyyl Swubwghunwlywi Yppnipintl
pwdhG 9 funip 4 nwu_1_&pwghp
(putn pynipbitnuighG wiuubiph qnpéwnGwywh Swuwlwpgiwh)

Qadwh wnwpywih QGowa 6k |2withdw(  Uhwynph QGnwikGp Pwwlyp
Uhpw(ghYy Ynnp puwn wbywniip (pnGpwgw- |0hwynp qhlp Swhuubip
CPV nuuwlwpgiwd Ywnq) (nnwid) (npwy)
2 3 4 5

1GnLd shwlinhuwgnn wj) éwfuut 000,000 |
99600000 wj| Gwwuwnbbp X X 1,000,000 1,000,000
OGnwikGp | X F [ 1,000,000 |
Muwwnyhpwwintd  Lntwwnwnh gjninwwbinwpwl
(puwn pynLobitnuwhl dwiuubiph gbipwnbiuswlwi Pwuwywpgiw)
Opwahpp
UGJwGnLop $hiwbuwlwh wowlgnipnil hwuwp.Yugdwybip.
pwdhG 10 funwip 7 nuwu _1_o6pwaghp
(puwn pyniobitnuyhG dwhuubiph gnpéwnlwlwi Swuwlywnpgiw)
QGowh wnwpywjh QGUwaG aL |2wihdw]  Uhwynph LGnwakGp Pwlwlp
Uhpwlghy Ynnp'pun whywGnidp (pGpwgw- (0hwynp ghGp Swfuubip
CPV nuuwlwpgiw@ Yuwnq) (npwv) (npw)
2 3 4 5 6 7/

oA

T aooo00l
400,000 | 400,000 |

99600000

COnwokGp | {x [x | | 400,000 |

Muwwnyphpwuiintl  Lniuwnwwnp gjninwwbnwpwb
(puwn pynLobitnuhG dwhuubkiph gbpwnbuswywa Swuwlwpqiwh)

Opwahpp

UGJwhnLip ncpwpdwlh Ywnnignd

pwdhG 8 funuip 2 nwu _7_opwghp 51

(puwn pynipbitnuyhG dwiuubph gqnpéwriwlwl Swuwlwpgiwb)

QGuwh wnwpywih QGuwh ab |2wthdw( Uhwynph LGnwikbp Pwlwyp
UhowGghy Ynnp putn whiywbnLdp (nOpwgw- |Ghwynp aqhlp Swihuukip
CPV nwuwlwpgiwa Ywpng) (npwd) (nnuwd)
2 ‘ 3 4 5 6 7

it
45211149
71311100

6,400,000
300,000

6,400,000

_— I = I I 6700 000 |



Muwuwndhpwwintd  Lniuwnwnh gyninwwbimwpul
(puwn pynepbitnwyhG swiuubiph gbipwnbuswywl $wuwljupgqiwh)
Opwghpp
UGJwlnLop Qyninh quiqudhljughw
pwdhlG 4 punwip 3 nwu 5 6pwaghp 51
(puwn pynuptitnuyhb dwhuubph gnpéwnbwywl Swuwlwpqiwh)

QGowl wrwplyuwih QGuwh ab |2wthdw(  Uhwynph CGnwikbp Pwlwyp
Uhpwghly Ynnp puwn whijwbnLdp (pGpwgw- [Ghwynp qhlp Swfuubn
CPV nwuwywnpgiwa Ywng) (npw) (npwy)
1 3

UpluwwnuwiGp
45231115
Bw e

COnwikGp | [x 4 [x | | 3,500,000 |

Muwuwudhpwwintd  Lotuwnpwwnh gyninuwbitnwpwl
(puwn pjniobinnwhl wiuubiph qbpwnbuswlwb Swuwlwpqiwb)
Opwahpp
UGwGnLdp Jupswlwh pynobigh wwhniuwnwihG $nin
pwdhlG 11 hunip 1 nwu 2 6pwghp
(puwn pyniptitnwhl wiuubiph gnpéwrpliwlwl wuwlwpgiwb)

QGowh wnwplwih QGUwG ab |2wihdw(  Uhwynph LGnwikGp Pwlwlp
UhowGghy Ynnp puwn wliywniip (nGpwgw- |Shwynp aghlp Swfuubip
CPV nwuwywpquwa Ywpg) (npwv) (o)
6

3,918,100 3,918,100
LOnwikGp | , [x [x | | 3,918,100 |
Mwuwdhpwwinith  Lotuwnwinh gjninuubnwpul
(puwnn pjnLobitnwihl swhuubiph qbpwwntuswlwl dwuwywngiwh)
Opwaghpp
UGJwhniip Snlinwjhl pjnpbjh wwhniunwihG $nln
pwdhG 11 funip 1 nwu 2 Spwaghp
(puwin pyneptitnwighl Swhuubph gnpdwnbwlwl Ywuwlwpgiwh)
Qhadwl wnwplhuwih QGUwG 6L |2wthiw(  Uhwynph CGnwikbp Pwlwyp
UhpwGghy Ynnp putn whywbniip (pGpwgw- |Ghwynp ghlp Swfuubip
CPV nuuwlywpqiwa Yuwnq) (nnwig) (npu)

CGnwakan | Ix Ix | ] 2.152.400 |



